Translating Word Problems into Algebraic Expressions

1) Two integers have a sum of 24. If the first integer is called m, create an

expression for the second integer in terms of m,
_____,w,__,‘_.___.rz""—'—

M+ X = | 15t =m
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2) The perimeter of a rectangle is 100. If the width is called w, create an expression
for the length in terms of w. D

| 4k Jui= 100 noThE w! T
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3 The perimeter of a rlght triangle is 30. The hypotenuse is 13. Assuming the trlangle is not
isosceles and one leg is called x, create an expressmn for the other leg.

Xy +13 =30 Xz one ieJ . !\\\
Y= 30-137X T-x = oHerleg " >
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4) A rectangle has a perlmeter of 50. If the length is called L, create an expression

for the width in terms of L. Le 1= N L
w ™ Q\.«J = B0 - AL \N\d iy -
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for the second integer in terms ofx VF;" .
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6) A 3-sided rectangular fence is constructed against the side ofa building. If one side of the fence
is called w, create an expressson for the Iength cgf}bgjgm terms of w. (U:I"\u) | o4 f émt\"\j)

| h LTJW L =150 —aw le% =150 -\ Lng_é

7) | am thinking of three consecutwe integers. [f the first integer is called y, create an express:on
for the other two integers.

TR AL \;+9\

8) Two integers are called x and y. Create an expression that represents their product.
PRODUCT = 3 ° 7‘
9) Two integers are called x and y. Create an expression that represents the sum of their squares.

SUM OF SQUARES = Y 7—,1[_\/ 2



Creating Polynomials from Word Problems

Use the previous exercises #1-7, to complete the following problems:

1) Two integers have a sum of 24. {f the first integer is called m, create a polynomial that
represents their product.

pm(’)\)ﬁ"r:: W\(al—\-—m) — aqmdmll‘

2) The perimeter of a rectangle is 100. If the width is called w, create an expression
that represents the area of the rectangle.

500 - W2

3} The perimeter of a right triangle is 30. The hypotenuse is 13. Assuming the triangle is not

isosceles and one leg is called x, J, ‘.
H\’Cc&: 5 \O \’\

a} Create an algebraic expression using Pythagorean Theorem.
b) Create an algebraic expression representing the area of the triangle
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4) Arectangle has a perimeter of 50. If the length is called L, create an expression
For the area of the rectangle in terms of L.

Preo = L (25-V) :[ 351,,551

5) Twao integers have a sum of 40. The first integer is called x, create an expression
for the sum of their squares. B
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6) A 3-sided rectangular fence is constructed against the side of a building. If one side of the fence
is called w, create an expression for the area of the fence jin terms of w. ( ujlv\@ §ste] -?#GF-QM'_&\@

@’r(qf \/\f(\ﬁ() »&@5 :FE,QN,QU\}'};(

7} | am thinking of three consecutive integers. If the first integer is called y, create an expression
that represents the product of the 2" and 3" integers. “T2-F He_ pro duet s R0

Ny Yy (DY) =306
\17*«8\; ¥ =306
T3y~ 304 =0



Creating Polynomials from Word Problems

A high diver jumps off a 10-meter springboard. For
h in meters and tin seconds after the diver leaves
the board, her height above the water is given by:

h(t) = —4.9¢% + 8¢ +10

a) Find the x intercepts. Interpret the values in the
context of this problem.
X==,%39 Xz AMG Seconds onbl K dwer
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b) Find the y intercept and interpret its value in the

_context of this problem. 1 . o
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c) Identify concavity Concwoe Dawn

d) Find the diver’s maximum height 3. 36 welers

5

NS

| i e) How long does it take the diver to reach max height?
X = o B o Deconds ‘{TJ o N A e \NL*U W

f) What domain and range would we use for this model?

03 [0, 346
g) Sketch the graph: I:O) 3. 26\
(:8l12.2¢)

246



Creating Polynomials from Word Problems

A baseball is popped up by a batter. The height of
the ball above the ground after t seconds is given by
the function |

f(t) =—-16t" + 64t +3

a) Find the x intercepts. Interpret the values in the
context of this problem.
X = -, 0HG Ko H.OH Seconds for
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b) Find the y intercept and interpret its value in the

context of this problem.
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c) Identify concavity (gnccwe Padn

d) Find the maximum height of the baseball._© [ {e.¥

e) How long does it take the baseball to reach max
height? T+ Ye\es A Seconds Fa veach raoud \»\Lifj\r\\’

f) What domain and range would we use for this model?
D5 o, Hod]
g) Sketch the graph: R, [o} m]
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